Intro to Linear Algebra Summer 2017
Quiz 2 Drew Armstrong

Problem 1.

(a) Find the equation of the line that is perpendicular to the vector (1,2) and contains the

point (0,0). o }
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(b) Find the equation of the line that is perpendicular to the vector (1,2) and contains the
point (1,1).
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(¢) Draw the lines from parts (a) and (b) on the same pair of axes. Label each line by its
equation.
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Problem 2.

(a) Find a parametrization for the line in 3D that contains the point (1,0,0) and is parallel
to the vector (1,2,3).
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(b) Compute the intersection of the line from part (a) with the plane z —y + z = 5.
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(c) Is the line from part (a) perpendicular to the plane from part (b)? Why or why not?

NO . Se c amse W dicectisn vecdor
Q!z,e’) s et parellel b dne

o

?Q(P,Q\;‘XARQLMWTL&T v e Q“Jf“‘br &’1”"’\; }) ‘“X; 'fj\ﬂgﬂ ?{C«%.

L);QJSD :fé: Y\<11/)/’>

far any r



